रख-रखाव एंव अभियांत्रिकी इकाई भारतीय कृषि अनुसंधान परिषद भारतीय कृषि अनुसंधान संस्थान नई दिल्ली -12.

सं. 08-52/18-19/एमईयू .

दिनाक 20-09-2018

<u>e-निविदा सूचः</u>

ानंद , भा॰ कृ॰ अनु॰ सं॰, को और से एवद्वारा अधालिखित ानांद ं लो॰ ानं॰ वो॰, एम॰ ई॰ एस॰, रेलवेज, एम॰ सी॰ डी॰, लागि , या अन्य कंद्र / राज्य सरकार / अद्धे सरकारी एजेसीयों के साथ पजीकृत पात्र / एजेसीयों व विशेषकृत एजेसीयों से मु दर गिवेदा आमित्रेत की जाती हैं । एजेसीयों के पास ः , वैट/ ाटे तथा GST पजीकरण स॰ होना अग्निवाये हैं । तथा निर्देशित ः हेतु दो विगत वर्षों में दो समान क अनुभव होना चाहिय ।

क्र॰ स॰	कार्य का ना	अनुमानित लाग	धरोहर रा
1.	Repair of boundary wall & fixing of interlocking paver tiles in fire station quarters at IARI Pusa, New Delhi-12.	Rs. 534384.00	Rs. 11000.00

ई-ानविदा आतम ति : 22-10-2018 को 14.30 बजे तक

ई-ानाः खुलन ः ातः : 23-10-2018 को 15.00 बजे तक

ानीवेदा की व : रू. 500/- मात्र (अप्रोतेदेय)

इच्छुक एव प्रत्न एजसाया ानावदा विवरण दखन क लिए तथ **ई-ाना**ट प्रस्तुत करन र http://eprocure.gov.in

सहायक प्रशासनिक आ (निर्माण/ एमः ईः यूनिट)

MAINTENANCE & ENGINEERING UNIT ICAR-INDIAN AGRICULTURAL RESEARCH INSTITUTE NEW DELHI-12.

No. 08-52/18-19ME Unit Dated: 20-09-2018

e-QUOTATION NOTICE

Item/percentage rate sealed Quotation are hereby invited on behalf of the Director, IARI from the Contractors Registered with CPWD, MES, Railways, MCD, PWD or other Central/State Govt./Semi Govt. agencies. The contractor must have valid IT-PAN/VAT/TIN and GST registration number and having experience of two similar nature of works in last two years for the work mentioned below:

S.N	Name of work	Estimated cost /	Earnest
		Item Rate	Money
1.	Repair of boundary wall & fixing of interlocking paver tiles in fire	Rs. 534384.00	Rs. 11000.00
	station quarters at IARI Pusa, New Delhi-12.		

Last date & time submission of e-tender processing : up to 14:30 hours of 22.10.18

Opening of e-tender : 15:00 hours of 23.10.18 Tender Fee : Rs. 500/- (Non-refundable)

Desirous and eligible agencies for details & submission to e-tender may visit http://eprocure.gov.in

Asstt. Admn. Officer (Works)

08-52/18-19/ME Unit

Repair of boundary wall & fixing of interlocking paver tiles in fire station quarters at IARI Pusa, New Delhi-12.

C 61					
S.No	Particular	Qty.	Unit	Rate	Amount
1	Earth work in excavation by mechanical means (Hydraulic excavator) /manual means over areas (exceeding 30cm in depth. 1.5 m in width as well as 10 sqm on plan) including disposal of excavated earth, lead upto 50m and lift upto 1.5m, disposed earth to be levelled and neatly dressed.				
	All kinds of soil	300.00	cum	125.95	37785
2	Providing and laying in position cement concrete of specified grade excluding the cost of centering and shuttering - All work up to plinth level				
a)	1:5:10 (1 cement : 5 coarse sand : 10 graded stone aggregate 40 mm nominal size)	5.00	cum	4209.05	21045
b)	1:2:4 (1 cement : 2 coarse sand : 4 graded stone aggregate 20 mm nominal size)	2.00	cum	5481.95	10964
3	Brick work with common burnt clay F.P.S. (non modular) bricks of class designation 7.5 in superstructure above plinth level up to floor V level in all shapes and sizes in	2.00		3.31,73	_330
	Cement mortar 1:4 (1 cement : 4 coarse sand)	25.00	cum	5801.50	145038
4	15 mm cement plaster on rough side of single or half brick wall of mix :				
	1:4 (1 cement: 4 coarse sand)	100.00	sqm	209.65	20965
5	Constructing brick masonry road gully chamber 50x45x60 cm with bricks in cement mortar 1:4 (1 cement : 4 coarse sand) including 500x450 mm pre-cast R.C.C. horizontal grating with frame complete as per standard design :				
	With common burnt clay F.P.S. (non modular) bricks of class designation 7.5	5.00	each	4043.10	20216
6	Providing and fixing Polyvinyl Chloride (PVC) pipes. This includes jointing of pipes & fittings, trenching ,refilling & testing of joints complete as per direction of Engineer in Charge.				
	100 mm nominaldia Pipes	80.00	Rm	450.00	36000
7	Providing and laying 60mm thick factory made cement concrete interlocking paver block of M -30 grade made by block making machine with strong vibratory compaction, of approved size, design & shape, laid in required colour and pattern over and including 50mm thick compacted bed of coarse sand, filling the joints with fine sand etc. all complete as per the direction of Engineer-in-charge.	300.00	sqm	615.70	184710
		555.00	Squi	015.70	10-710

Subject	TOTAL				534384
	New work (Two or more coat applied @ 1.67 ltr/10 sqm overand including priming coat of exterior primer applied @ 2.20kg/ 10 sqm)	100.00	sqm	96.05	9605
10	Finishing walls with Acrylic Smooth exterior paint of required shade:	10.00	sqm	78.40	784
9	Painting with synthetic enamel paint of approved brand and manufacture to give an even shade : Two or more coats on new work	10.00	sqm	78.40	784
	In gratings, frames, guard bar, ladder, railings, brackets, gates and similar works	550.00	kg	85.95	47273
8	Steel work welded in built up sections/ framed work, including cutting, hoisting, fixing in position and applying a priming coat of approved steel primer using structural steel etc. as required.				

Subject to be following terms & conditions:-

- 1. The work shall be executed as per CPWD specifications.
- 2. Income Tax, work Tax & work cess as per norms shall be recovered from the bill.
- 3. 1% water and electrical charges will be recovered from the bill if supplied by the Department.
- 4. The work shall start within 7 days from the date of award and complete within three months failing which a penalty @ 1% per day delay will be imposed on the bill amount maximum upto 10%.
- 5. GST will be paid extra as per the norms of ministry of finanace.
- 6.All the materials, laboures, T&P etc. required will be arranged by the firms itself.
- 7. The agency shall deposit security @ 5% of the sanctioned amount including EMD.

8Any other item to be required at site to complete the work will be executed as per the lowest quoted rates on DSR-2016.

- 9. The rates shall remain valid for 180 days from the date of opening of quotations/tenders.
- 10. A running payment may be made of athe successful completion of work for 1/2nd or more amount of work.
- 11. The Director, IARI has the right to reject any or all the quotation/tenders without assigning any reason.

Percentage rate to be quoted above or below in figure on '.	A' above:
In words:	
I/C(W)	T.A.(C)